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No BT REH HEDIELE trL-134 tr5 L-137 AEE
Bqg. kg Ba. kg Ba kg
1 AETH R5.10.23 FEARLW=IT(HEE%) BRHEE9(<3.9) 18.8 19
2 A= R5.10.23 BARLWL=T (FEE% BREE9(<44) 14.2 14
3 REF0FF R5.10.22 [RARLULM =T (EER) BREE9(<4.2) BRHEE9(<4.5) - danhcac
4 I5HT R5.10.23 BEERLULM=F (FBE% BRHET(<3.8) BRHE9(<43) BREed
5 ISHT R5.10.23 BERLW=1F (%) BREE9(<4.2) BRHEE9(<4.3) - danhcac
6 EZ%AT™ R5.10.22 BEAREGH (FEHh) BREE9(<4.6) 5.56 5.6
7 [EEE3Ed:) R5.10.20 RERIEH (Eh) BRHEE9(<5.8) 5.81 5.8
8 g R4t R5.10.20 [RAR%SH (FEih) BRHEE9(<3.3) 24.0 24
9 iR AT R5.10.23 RERIEH (Eh) BREE9(<4.5) 15.1 15
10 FASEET R5.10.20 BREOH (FEER) BRHEET(L31) BRHET(<2.9) BRHEET
11 EZAH R5.10.17 BEREWV=T(Eih) BRHEE9(<5.3) BRHEE9(<4.8) - daskcac
12 L R5.10.20 BHRO =17 (%) BHEE3(<L5.5) BRHET(<4.9) BRHEET
13 . N /N ] R5.10.23 BEROST=1T (FE%) BREE9(<6.1) B®RHE97(<3.9) - daskcac
14 h B+t R5.10.23 BHRO =17 (%) BREEI(<47) BRHE9(<3.9) BRHEET
15 T SERHT R5.10.23 BERIEFALDL (FEER) BRHEE9(<3.9) BRHEE97(<3.3) BrEed
16 ISET R5.10.23 BRIZALDL (%) BRHET(<48) BRHEY(<L7.3) BRHEET
17 [EE3E i) R5.10.21 ROV AT (BRE) BREE9(<45) BRHEE9(<4.9) BrEed
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Bag. kg Ba. kg Ba kg

18 ESEET R5.10.22 ROV AD (BIRE) BRHET(<4.0) BRHET(<2.9) BRHEET

19 FASiERT R5.10.22 IR (JEEH) BREE9(<6.2) BRHEE3(<4.8) BRHEEY

BREEEICBT2—BEROEEE 9L :100Ba/kg(EHL-134, £ L-13TDOEE(E)
HEEE: Y L-134EEL D L-13TDEEEIZOVTIE, B F 24 (LN LIHTEZMIEREALZLD) TRELTULET,




